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Law and Social Transformation in India

(fafar ik wmfser afteds)

Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sectionsA, B, and C.Attempt the questions contained
in these sections according to the detailed instructions

given therein.

HIE : U YIT-UT WIS (60) ekl o1 & S < (03) WSl &k, @ a9T
T # fawfaa 21yl @ue § fag o foega fduit &
3TTAN &1 U9t Rl &1 T R

Section -A / @US-h
(Long Answer Type Questionsy( &g 3l aret w9 )

Note : Section 'A' contains four (04) long-answertype
guestions of fifteen (15) marks each. Learners ar
required to answerany two (02) questions only

(2x15=30)

e : WUT ‘T W AR (04) G ST ot w T 0 &, v
79 & fore uge siw fraffia € frenfelan = o/ @
et S Uvl & SEL A B |
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1. Point out the role of secularism in democradpw far
secularism has been incorporated in the constitution of India?

ARas § g U 1 qfHe W YRR Sfaul 9Rd &
ey o deo FRuer i %l a% |fmfed e mn 22

2. Discuss the role of law in bringing out social change in India
since 1947.

ARd H 1947 ¥ ATt 9Redd @F | fafy st qfieer &
Erggreiciis

3. What are the reasons for growing crimes against women in
India? What remedial measures are required to check this

menace?

aXd | Afgenst & foeg oH ol ouusl H gfg &
FHRUT 27 TG GHhe & TEORT & 1 ITER 27

4, ‘Laws are spider webs for the rich and migbktgel chains
for the poor and weak, fishing nets in the hands of authorities.’

In the light of above statement, suggest the mode of dispute
resolution for the common man.

“fafer e iR wifsrenelt & fau weRel @ Sen ®, fgH
AR a9 & fou e oSS 7, wifusRiie @ ey o

TSl TR w1 e 21"

ST FUF & A W HHRT Afed & foau faog
e &1 adeh gl

140/330/300 2



Section - B/ @Us-@

(Short Answer Type Questions) ¥ ITRI a1l U9 )

Note : Section 'B' contains eight (08) sharanswertype

e -

guestions of five (05) marks each. Learners are required
to answerany four (04) questions only (4x5=20)

@ug ‘@' ¥ 318 (08) oY TR el U9 fo g &, ueieh

g & forw uter (05) 2fes Fratfia & | Rranfofal = @

A Haet IR (04) U9 & ST A& |

‘Gender discrimination continues to be a major problem in
India? Explain.

‘qa § fem-fads uw <t gwen o @ o?) T
HITST)

Discuss the impact of British colonialism in India.

aRd | fefesr SufeneR & 99e W g Sifau)

Point out the provisions of the constitution of India concerning
minorities.Are Jains minority?

AeUgEThl ¥ Hafud gifawnfies Susel i i wifew)
FI S STCTHETE 77

Comment on the government's proposal for reducing the age
of guveniles from 18 years to 16 years who commit heinous

crimes.
THR & 39 J&E W S | () STy &
ol s ey 18 o W 16 oY HA H1 §, W feogwi

fafam|
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Note :

Write a note on sexual harassment of women on workplace.
HEY W Hfgeel % e Sciied W feuel fafem)

Point out specific 'legislations for child adoption in India.
Under which legislation a non-hindu can adopt a child?

qRd § areteh & M o daet fafafds faumi #t aasu
12 R-feg fore faf & o1l ot 1 g o Tkt 272

How far the word 'Socialist' in the preamble of the constitution
is relevant in the present scenario in India.

IRd H AN & URGYT H Af9uM & 2R & TR
‘grafeh’ el % " ©?

Give in brief, reasons for emergence of nexalite movement in
india.

TR | oA STRIeH & 3= 8 % HRON 1 Gerg |
Eisgicficaisi

Section - C/ @Us-

(Objective Type Questions)/ ( TEI W9 )
Section 'C' contains ten (10) objective-type questions of

one (01) mark eachAll the questions of this section a&
compulsoly. (10x1=10)

: @Ug M U T\ (10) aEiTe wed fod w ¥, welew wee

@& fow e (01) 3t Truifia & | 3@ @ue & adt womr
afrard &
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Choose correct alternative:

W&t famen gfa-

1. Nexalite movement orginiated at -
(a) Berubari (b) Naxalbari
(c) Karnataka (d) Bijapur
THICA! SR FEl [E gl
(31) dEaE! (9) TSI
(|) FAlesh () e

Who is the founder of Bhoodafajna.
(a) Jayprakash Narayan (b) Raj Narain
(c) Vinoba Bhave (d) Annie Besant

q&H I 1 JAdh B -
(1) YRR AE0 (F) TS AI
(®) fodften wa (2) T w62

Common law is also called-

(a)Anglo-American law  (b) Statutory law
(c) Civil Law (d) Equity

w fafy &1 9\ 77 o 2-

(31) -t fafy

(9) Hafyes fafy

(&) fafae fafy

(%) 9=
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4. Article 23 of the Draft Constitution of India became :
(a)Article 25 of the constitution
(b) Articles 25 and 26 of the constitution
(c) Articles 29 and 30 of the constitution
(d) Article 26 of the constitution.
IR & WEY (draft) dfaum &1 A=s 23 waum @
HHE-TN AR T -
(31) STT=T] 25
() ITI=T 25 N 26
(W) =% 29 3R 30
(%) oI=7 26
5. In India, marital rape is :
(a)An offence under section 376 IPC
(b) An offence under section 325 IPC
(c) An offence under sectin 509 IPC
(d) Not an offence.
qG H TP T -
(31) IR ST A H AR 376 AR TWH T
() 9@ T dfedr w1 9 325 & o1 e
(9) 9RdE ST Gfedr w1 O/ 509 & ST STquy R
(%) TRy & =
6. The National Commission fafomen was set up by -
(a) anAct of Parliament
(b) Presidential order
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(c) an order of the supreme court
(d) a resolution of the minister of law and justice.

T ofea M 1 T fFEe 5’ gg-
(1) wEEy tafEH g

(9) Tgufd & eew W

(9) S=Iqu =g & STRe °

(3) fafy ik =M@ w=e@ & Gehed gRI

7. Right of children to free and compulsory educafichcame
into force on:
(a)April 1, 2009 (b) April 1, 2010

(c) October 5, 2009 (d) October 2, 2010

el 1 f:gesh iR erferd foten erfufem (fvenm =
Al eifuf=m) wd 9 @ gA-

(31) e 1, 2009  (d) 3THA 1, 2010
(|) AFS 5, 2010  (F) STRN 2, 2010

8. Protection of children from sexualfefcesAct includes of
offence of-
(a) Sexual assoult (b) Sexual harassment
(c) Pornography (d) All the above
Afer oTiel @ s H g eifufem § SE-a
A YA B-

(31) oifier gen (%) ifier Sedfteq
(9) ofvehia Wifed (%) ITgF 9+l
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10.

The constitution of India enshries the principle of gender
equality in :

(&) The preamble (b) Fundamental rights
(c) Fundamental duties  (d) All the above

9d & e W fdn weea i fagr el @
(1) Seferm | (9) gt siferprd o

(W) g1 &l § () Swe wedt o

Gram Nyayalayas are :

(a) Mobile courts

(b) to decode civil and criminal cases

(c) to follow the principle of natural justice.
(d) All of the above

T -

(31) Je-frd =@ )

() fafaer iR srofyss Amet &1 fofa = ?)
(|) it == & o a1 e w9 €

(%) SPx A«
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